4.4B More Multiplying Binomials & Factoring Complex Trinomials.notebooWNovember 11, 2022

Quiz!
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4.4B More Mulitplying Binomials & Factoring Complex Trinomials

A. Multiplying Two Binomials

Look for

1. (2x+3y)(4x-y) 2. (x-3y)(5x-3y) patterns!!!
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3. (3x7+2)(5x*-1) 4. (3a—4b)(5a-b)
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B. Factoring Complex Trinomials

**complex trinomials have a leading coefficient that is NOT ="1".

Look for

1. 3x*—5xp+2y° 2. 8a” + 6ab + b’
=(3x-24Xxy) = (4a4b)(24b) \ patterns!!!
x s M b .20\ b
3x :73'1/1 ”3«3, Ao Hox Baz Yab M =
—'ozg _0211 02‘12 N ’5|_2 b Qab é)L A ¢
3. 10x*+x*-3 4. 6x>—17xy+5)° :
= (5% 243X %) =(( Ry 5% 7
2x® -/ M T —8 M 30
sx| 0.9 -5%%|a 34 bx? - by o7
N _ic -
3 tx*| —3 >t -y *077(%, 582 N5 T
5 6x*—xy—y’ 6. 12m’ —16mn—3n’
BN QA NET = (2D om0 D
X ~ 1 00 Mo =3k
—b -
I R b Ve s | n i
‘z 2’\(‘5’ _‘ij_ ~N -3 > ~ ;vv\"\ /—bv\x ~N —\9\2
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— (U B -2D = Cg?(_q}\(y(-l-)a,)
Y =\ patterns!!!
- m G 2
2 M T
v [ ] e | AT 34 3«7 |67 ;
Al —ex| 2 o 3T _dy] My 2yt [N e




